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Sectlon A: Multiple Choice Questions {56 marks)
For each question from 1 to 28, four qllions are given. One of them is the correct answer.
Make your chicice (1,2, 3 or 4) and wite your answer on the Answer Sheet.

3

Amphibians have _ on their boidies.

(1 fur .
@) feathers

{38)  moistskin

{4) dry scales

in which of the fallowing processes does the characteristics of parents get passed on

to their young?

(1)  Pollination
{2)  Fertilisation

(3) Germination
(4)  Seed dispersal

The diagram shows the underside of a fern leaf.

Based on the diagram, which of the following statements is most likely comect?

¢

()
(3)
(4)

The fem has a weak stem.
X are seeds used for plant reproduction.
X contains spores used for plant reproduction.

“The fem has its roots holding the plant firmly to the ground.
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r

The diagram below shows the lifegycle of an organism %

/ Stage C \

Stage B f

Which of the following correclly rep

, Adult stage l

e

resents the amount of food that sxganem R

OBMsunes at-the various stages of its life cycle?
n (2)
F F 3
Amo.unt' Amount
of food of food
A B C Stage A B8 C Stage
(3) (4)
a Amount}
Amount of food
of food

A B C Stage

A B C Stage
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5. Dana placed the set-up below in a bright place.

plant

water
flask

originai position of
water in glass tube

After some time, the water in the glass tube mowed. Which direction did the water move
and what was the reason for the movement?

Q)
(2)
@
(4)

Direction in which the water in

the glass tube moved Reason
, Oxygen is given out by the plant.
— Water is given out by the plant.
— Water is taken in by the plant.
Carbon dioxide is taken in by the plant.

-+

6. The diagram below shows a plant cell with paxis A, B, Cand D labelled.

B

The part that is responsible for using Jight energy to make food is part

(1)
@
&)
@

A

B
D

BP~758



(1)
(2)
3)
{4)

The diagram below shows how blood is apertad in the man Circulatory system.

Which of the following do ptants need to carry ottt photosynthesis?

tiny openings on the leaves
chloroplasts

water-canying tubes
food-carrying tubes

00O W >

A and D only
B and C only
A, B and C only
A, B and D only

blood richi in blood rich in
carbon dioxide carbon dioxide
A B C
blood rich in blood rich in
oxygen oxygen

Which of the following parts of the. bodyare repsesssmed byA, 8 and G2

1
2)
(3
(4)

A B ) c
all parts of the body lungs heart
heart all parts of the body lungs
lungs heart all parts of the body
ait parts of the body heart lungs
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10.

Germaine set up her experiment in a dark room as shown below.

She prepared a similar set-up with: dry cotton wool and placed itin the same dark room

wet cotton wool

with set-up S.

What was the hypothesis tested in the experiment?

(1)

@

&)
(4)

A plant was placed inside a dark room with no windows.

dark room with ————
no windows
plant 7
Which of the following shows the changes of the amount of gases in the roorn after 30
minutes?
oxygen carbon dioxide water vapour

(1 increased increased increased
{2y increased decreased no change
(3) decreased decreased no change
4) decreased increased increased

Set-up §

Seeds will only germinate if there is water.

Seeds will not gerininate when kept in the dark.

Seeds will only germinate if there is warmth in the environment.

Seed will not germinate when they are placed too close together.
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11.  Maria wanted to find out whether the presence of waton:plents affect the amount of

carbon dioxide in the pond, She used the set-up shown below.

—+— pond water

i &y 3Y | water plant "
DR R A

Which of the following set-ups should Maria use as a agemissl for her experiment to show
that the change in the carbon dioxide level is due to the presence of the water plants?

%) _ 2)
3 | 4
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12. The diagram below shiows the seeds of fruit M.

fruit M

_ feathery-like
structure

Which graph represents how the number of seeds dispersed changes with the wind

speed?
(1 Number
of seeds
Wind speed
(3)  Number
of seeds
¥ 3
Wind spged

(@)

(4)

Numbet
of seeds
A
Wind spéed
Number
of seeds

Wind speed
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13.  Which statement about sexuat reproduction in Apwering plants and humans is tue?

14.

(N
2)
3)
(4)

Fertilised eggs are found in the ewary.

Fertilisation occurs in a female reproductive part.

Only one réproductive cefl is involved in fertilisation.
~Fhefemale reproductive cells are praduced in the anthers.

Alice wanted to find out if a type of plant growing in places with different amounts of
carbon dioxide will have different number of finy openings in their Jeaves.

She collected leaves from the same type of plant grewing in different places and
oounted-the number of openings as shown below. .

tiny openings

number of tiny openings in a given area of leaf

Which of the following variable(s) should Alice keep constant?

(1
(@)
33
(4)

Size of plant

Amount of oxygen in the air

Number of tiny openings in a leaf
Amount of photosymthesis in each plant

U’O'm>

A only

B and D only
A, B and C only
A, Cand D only
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16.

18.

Jiamiin used four similar leaves, P, Q, R and 8, of the same mass fo conduct an
experiment. These leaves have more finy openings on their bottom surfaces. than on
their fop surfaces.. Leaves lose water through these tiny apenings.

She coated some surfaces of the leaves with ot as shown in the table,

Leaf | Treatment
P | Oil on top.and bottom surfaces
Q | Oil on top surface
R Oil on botiom susface
S | Noai

After the leaves were left in the open area for an hour, she removed the oil and
measured the mass of each jeaf. Which shows the mass of the leaves in increasing
order?

(1) P,QRS
@ PRQS
3 S, QRP
@ SRQP

The diagram below shows an outdoor slide.

Metal is a suitable material for-part X because it

(1) isstrong

(2} isflexible

{3} cansinkin water

(4) does nat allow light to pass through
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17.

18.

Which statement about gteam is epEract?

(1)  Steamis hot air.

(2}  Steam is water in the gaseous state.

(3)  Steam can be seen when water boils.
(4)  Steam is made up of tiny water droplets.

Jarnal used the set-up below to conduct an experiment. A light sensor was used to
measure the amount of light on the screen.

forchiight

He changed the position of one of the #tems in

shadow

observations in the table below.

-t
-

----------
P

light sensor

screen

length of
shadow

 the set-up and recorded his

Light sensor reading Length of shadow
(units) {cm)
At the start 110 7
Afth& end 280 47

What change did Jamal miake?

(1)  The torchlight was moved away from the screep.
(2}  The screen was moved towards the forchlight,
(3)  The object was moved towards the torchlight.
(4)  The torchiight was moved towards the object.

10
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19. The diagram below represents the Earth's water cycle.

b

clouds water vapour

e K

B

sea, river, lake

Which of the following correctly identify the heat transfer in processes A and B?

. A B
1 heat gain ' a heat gain
(2) heat loss heat loss
3 heat gain heat loss
(4) heat loss heat gain

20. Studythe diagrams below.

A c

In which of the above circuit arrangement(s) will all the bulbs in the circuit light up?

(1) Aonly

(2) Bonly

(3) Aand Conly
() A/BandC

11



21.

In the diagram below, when two of the bulbs fused, two other bulbs
up.

Which two bulbs were the ones that continued to light up?

{1)
2)
3)
{4)

Sand T
Tand U
Uand v
Sandv

i
—
————

®

%s

U

v

Y

12

-

continued to light
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22.  Which.apparatus can be used to measure 2 m! of water accurately?

(1) (2)
a displacement can
(3) Y 4
50 mi
e

a measuring cylinder

a beaker

5 mi

=TT =

a syringe

23 The table below shows the meflting and boiling points of three substances, E, F and G.

Substance | Heiting point (° C) | Boiling point {°C)
E 19 102
F -5 18
G 4! 134

Which statement is correct about the substances if they are placed in a room at 26°G?

(1)  Substance E will be in the solid state.
(2)  Substance G will be in the soli state-
(3) Substances E and F wik be in the liquid state.

(4)  Substances E and G willbe in the gaseous slate.

13
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24.  When water changss from liquid to solid at 0 °C, which of the following is correct?

25.

(1) The wateris freezing,

{2)  The temperature of water is increasing.

(3}  Thereis no heat gain or loss by the water.
(4)  The water gains heat from the surroundings.

Amy filled three identical beakers, R, S and T, with the same amount of water but at
different temperatures. The beakers were. covered with a lid and left in a room with a

temperature of 30 °C. The diagram below shows what happened to each beaker after
some time.

water droplefs

ho s ey e —

Which of the following correctly shows the temperature of the water in each beaker at
the start of the experiment?

Temperature {°C}
s T
(1) 5 | 95 30
@ I 30 5 05
3) a0 ' 95
(4) 05 30 ]

14
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26. Helen had a bar magnet. She placed a pin at each poitit, P, Q and R.
She replaced each pin with a heavier pin, untl she found the heaviest pin that could

be attached without dropping.
“The resulis are shown. o bar magnet
P Q R
v v ¥
pin pin pin
{49) (29) {49)

Which of the following can be concluded from the results?

A P is the North pole.

B The pinis magnefic. )

C The magdnetic strength at Q is weaker than at R.
(1)  AandBonly
(2) AandConly

(3) BandConly
4 ABandC

27. Study the three circuits as shown below.

— ®
G %)é) B—@)—‘—

i |—

A B C
Arrange the brightriess of each bulb in the dircuit from the least bright to the
brightest.
Least bright —— » Brightest

(1) B A [&

2) C B A

3) B c A

{4) C A B

15
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28. Tammy connected 3 objects, A, Band C in a circuit as shown below.

Bulbs 2, 3 and 4 it up but bulb 1 did not. Al bulbs an

(-

Buib 1 Bulb 4

Buib 2

Which material(s) is/are elecirical cond uctor(s) and electrical insutator(s)?

{n
2
@)
@

d batteries are in working

Electrical conductors Electrical insulators
A B, C
B AC
A B C
B.C A
END OF BOOKLET A

186
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SECTION B: 44 Marks

For questions 29 to 40, write 'your answers in the spaces provided.
The number of marks available is shown in brackets [ ] at the end of each question or part
question.
29. The diagram shows how substances are transported in a plant. E and F represent
different parts of the ptant. The arrows represent the movement of substances G and

H.
L E F Roots
| o
. :
1
l ¥
- G e s
Flowers H >
(a) Identify paris E and F. 1
E
F

(b) Identify the substance represented by G and describe how the substance moves in
the plant. (2]
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30. The diagram below shows a single-cefled organism which fives in 2 pond.

cell wall cytoplasni
cell membrane
— chioroplast
—— nucleus

Use the information in the diagram to answer the following questions. -

(a) State the function of the cell membrane. [1]

(b} Name two parts in the organism which show that it is more fikely to be plant cell than
an animal cell. [
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31, The diagram below shows the cross-section of 2 air sac present in the lungs.

‘blood entering
the lungs,

\

air sac

blood vessel blood leaving

|~ thelungs

(a) NamegasesAandB. 0

A
B
(b) State the organ in a fish which has the same function as the lungs. - M

The diagrams below show an air sac in the lungs of a healthy person and in a person
suffering from respiratory disease P.

~-air sac
liquid

healthy person person with respiratory disease P

(c) Based on the information above, ‘explain why a person suffering from respiratory
disease P has a higher breathing rate than a healthy person. [2]
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32,

(@)

)

(c)

The diagram below shows the cross-section of a flower from plant P.

- brightly-coloured. petals

Ella concluded that the flower is pollinated by insects, Explain why she said so.  {1]

The diagram below shows how a fruit is formed from the flower of plant P.

Describe process G. 1]

Three similar flowers, L, M and N are obtained. Different part(s) of each flower are
removed as shown in the diagram below.

Flower L, Flower M Flower N

Which of the flowers, L, Mand N, can still develop into a fruit after polten is dusted
acrass all the flowers? Explain your answer. 2]
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33. A scientist carried olt an experiment to measure the volume of blood supplied. per
mimite to- different parls.of the human body during two-activities: resting and running.

7

Activities
Volume of blood
supplied per [] resting
minute (cm3) o

running

legs small intestine

() Using the information given, explain how running after a meal affects the absorption

of digested food in the small intestine? [2]
(b) Describe how oxygen in the air reaches the legs. 2]
4
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34. A diagram of the fruit of plant X is. shown below. The seed coat surrounds the fleshy

solid.
seead coat
fleshy solid
fruit of plant X fibrous husk
emply space
{a) Explain why seed dispersal is important. 1
(b) Exolain how the characteristic of the fruit of plant X helps in its dispersal. {11

(c) The fleshy solid serves an important function in germination. Explain why this function
is important before the true leaves develop. 1]
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35.

(a)

(b)

(©)

Heimi tied object Y on top of tis plastic toy car. He then placed the car on a plastic
track which allowed the car to travef in a straight line towards a wall. He attached a
strong bar magnet on the wall.

Helmi moved the car with object Y towards the magnet. At a certain distance P, he
released the car gently.

magriet

position of car after release

Based on his observation, state what object Y was. 1

Explain why the car with object Y moved back when Helmi released it gently. 1]

Helmi replaced object Y with awooden box of identical size and mass. He released
the car at distance P gently. What will happen to distance Q when object Y is replaced
with the wooden box? i1]
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36. [Linda put a metal spoon into a beaker filled with hot water in a room as shown in the
diagram below.

{a8) Explain why the metal spoon felt hot after a sorne time. (]

Cally decided o prepare hand boiled eggs for her family. She placed three eggs of
similar sizes each into three identical beakers, P, Q and R. She poured in different
amount of hot water at different temperatures as shown.

-
Q R
150 ml of 00 mi of 100 ml of
water at 30°C water at 90°C water at 60°C

(b) In which beaker will the egg be cooked the slowest after 10 minutes? Explain your

answer, [2]
(¢} What can Cally do if she-wants the eggs to cook even faster? 1]
4
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37. Zakiset up a circuit as shown in the diagram below.

|
—® . A

{a) Which two bulbs lighted up when only one ofthe switches was closed? M

Bubbs . and

Zaki constructed a model of how a carpask barrier gate works. When the switch is
closed, the barrier arm moves up in direction b as shown.

barrier D
- 1 1
L e e !
iron B
steel bar

battery

switch
{b) Explain what caused the barrier to move up in direction D when the switch is closed.
2]
3
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38. Galli sprayed some mist spray on her face.

(a)} State why Caili's face became dry-very quickly. {1}

Caili sprayed the mist spray on her face again and stood in front of a moving fan.

{b) Explin why her face felt colder than before. [2]
(c) Statea difference between evaporation and condensation. [1]
4

10
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39. Eunice set up an electrical circuit as shown below. The bulb, wires and batteries are 7
all in working condition.

bulb in bulb holder -

(a) When Eunice placed X into the circuit, she observed that the bulb it up. Give a reason
for her observation. [t]

Eunice used two identical batteries, two bulbs.and a switch to build her toy car. When
the switch was closed, the bulbs lit up.

(b) Inthe circuit below, draw wires that Eumice has to set up such that the two bulbs will
light up with equal brighiness.. [2]

)
I )
D

1" Contihue ort next page



(c)

State an advantage and a dzsadvantage of setting up the light bulbs in the circuit that
Eunice has set up. [2]
Advantage:
Disadvantage:

5

12
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4D, Vansssa placed two set-ups, A and B, in a room as shown below.

ice cube plastic cover ice cube

A container _
500 mi of —t— - = -y “_~1 500milof
waterat 70°C |— — | — . — — | waterat70°C
Set-up A Set-up B

{a} After two hours, she observed that there was water coliected in both beakers P and

Q. Explain how the water was collected in bath beakers P and Q. (2]
(b) Explain why there was more water collected in beaker P of set-up A. i2]
END OF BOOKLET B ' 4

13
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Q1 Q2 [Q3 ([Q4 [Q5 |Q6 Q7 Q8 Q9 Q1o

3 2

Q11 Q12 |Q13 Q14 [Q15 |Q16 |[Q17 |Q18 |Q19 |Q20

Q21 Q22 1Q23 |Q24 |Q25 |Q26 |(Q27 {Q28

1 4 2 1 3 3 1 4
BOOKLET B
1Q29 (a) | E: leaves
F: Stem
Q29 (b) | Food. Food made by the leaves are transported to all parts of

the plant through the phloem.

Q30 (a)

It controls substances passing in and out of the cell.

Q30 (b)

The cell wall and chloroplast

Q31 (a)

A: Carbon dioxide
B: Oxygen

Q31 (b)

Gills

Q31 (¢)

When there is liquid in the air sac, it decreases the surface
area for gaseous exchange. The person has to breathe
faster to obtain oxygen needed by the body.

Q32 (a)

The flower has brightly-coloured petals to attract insects.

Q32 (b)

Process G is a process where polien grains from a flower
lands on the stigma of a flower of the same species.
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Q33 (c)

L and M. They both still have their stigmas. M can still
receive pollen grains from the anther of another flower. L still
has its anthers, so fertilisation can take place for both
flowers.

Q33 (a)

When running, more blood is pumped into the legs and less
blood .is pumped into the small intestine. Thus, the small
intestine absorbs less digested food.

Q33 (b)

During breathing, oxygen enters the nose. In the lungs,
oxygen is absorbed into the circulatory system. The heart
pumps the oxygen-rich blood to the lungs.

Q34 (a)

To prevent overcrowding and competition amongst the parent
plant and other seedlings.

Q34 (b)

The fruit of plant X has a fibrous husk that traps air to allow it
to float on water, dispersing its seeds further away from the
parent plant.

Q34 {c)

The fleshy solid are seed leaves which provide food for the
seedling..

Q35(a)

Object Y was a magnet.

Q35 (b)

Object Y was repelling the magnet as the like poles may be
facing each other.

Q35 (¢)

It will remain at the same distance at distance P.

Q36 (a)

The metal spoon gained heat from the hot water.

| Q36 (b)

Beaker R. The temperature of water in beaker R is the
lowest, hence heat transfer will be the slowest.

[ Q36 (c)

She can put the eggs over a heat source.

Q37 (a)

Bulbs A and B

Q37 (b)

When the switch is closed it becomes a closed circuit,
electric currents can flow through the steel bar, causing it to
be magnetised and become an electromagnet. Thus, it will
attract iron R, causing the bamier to move up in direction D.

Q38(a)

There was a large exposéd surface area of the mist, resulting
in an increase in the rate of ewaporation of water. Thus,
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causing the mist to dry very quickly.

Q38 (b)

Calli's face felt colder than before as wind from the moving
fan increased the rate of evaporation of water. The mist
gained heat and turned into water vapour.

Q38 (c)

The process of evaporation gains heat while the process of
condensation loses heat.

Q39 (a)

X is a conductor of electricity.

Q39 (b)

— A

Q39 (c)

Advantage: When one bulb fails, the other bulb will still work.
Disadvantage: The battery will run out faster.

Q40 (a)

The warm water vapour in the container touches the cooler
surface of the plastic cover, the water vapour loses heat and
condenses to form water droplets. The water droplets then
dripped into the beakers below.

Q40 (b)

More water was collected in beaker P as there was a larger
exposed surface area of water, so more water evaporated to
become water vapour, resulting in more more more water
vapour in the set-up to condense into more water droplets.
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